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Run 6089 mpswise, acc0: All
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Mean: 84480 +- 00003
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Run 6089, mpswise, acc0: Beam ON, Laser ON
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Mean: 15,6182 «/- 00023

Sbd Drey: 09857 +- 0.0076
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Run 6089, mpswise, acc0: Beam ON, Laser OFF

Enitries: 201627

Mean: 34851 +/- 0.0D0S

Sid Dev: 04200 - 0.0007
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Run 6089 mpswise, BCM: All Run 6089 mpswise, BCM: Beam OFF
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Run 6089 mpswise, lasPow: All

Run 6089 mpswise, lasPow: Beam OFF
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Run 6089, mpswise, lasPow: Beam ON, Laser ON Run 6089, mpswise, lasPow: Beam ON, Laser OFF
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Run 6089 mpswise, bpmAx: All
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- Eniries: 458184

Mean: -0.7529 o - 00007

Sid Dev: 00915 «- 0.0001
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Run 6089, mpswise, bpmAx: Beam ON, Laser ON

Enitries: 190528

Mean: -0. 7788 o (L0000
Sid Dey: 007138 +- 00000
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Run 6089 mpswise, bpmAx: Beam OFF
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Run 6089, mpswise, bpmAx: Beam ON, Laser OFF

Enitries: 201627

Mearn: -0. 7784 «/- 0UDO00

Sid Dev: 00145 +- 0.0000
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Run 6089 mpswise, bpmAy: All
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Run 6089, mpswise, bpmAy: Beam ON, Laser ON
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Run 6089 mpswise, bpmAy: Beam OFF
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Run 6089, mpswise, bpmAy: Beam ON, Laser OFF

Enitries: 201627

Mean: -0.1183 </ - 0UD000

Sid Dev: 00088 - 0.0000




Run 6089 mpswise, bpmBx: All
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Run 6089, mpswise, bpmBx: Beam ON, Laser ON
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Run 6089 mpswise, bpmBx: Beam OFF

Enlrie=: 37310

Mean: 1.5692 +/- 00019

Sid Dey: 03690 - 0.0013
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Run 6089, mpswise, bpmBx: Beam ON, Laser OFF

Enitries: 201627

Mear: -0.5064 o~ 0UDO00

Sid Dev: 00087 4~ 0.0000
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Run 6089 mpswise, bpmBy: All
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Mean: 0ADEE 4~ 0.0007

Sid Dev: 0.4934 - 0.0005
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Run 6089, mpswise, bpmBy: Beam ON, Laser ON

Enitries: 190528

Mean: 09741 +- 00000

Sid Drey: 0L00B0 4~ 0.0000
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Run 6089 mpswise, bpmBy: Beam OFF

Enlrie=: 37310
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Run 6089, mpswise, bpmBy: Beam ON, Laser OFF

Enitries: 201627

Mear: 029743 +/- 00000

Sid Dev: 00062 4 0.0000
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AccO/NAccO
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Run 6089 mpswise, beam ON, laser ON

Accl/MNACCD
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Run 6089 mpswise, beam ON, laser OFF
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Run 6089 mpswise, beam OFF, laser ON Run 6089 mpswise, beam OFF, laser OFF
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BCM

BCM

Run 6089 mpswise, beam ON, laser ON Run 6089 mpswise, beam ON, laser OFF
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Run 6089 mpswise, beam OFF, laser ON Run 6089 mpswise, beam OFF, laser OFF
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Run 6089 mpswise, beam ON, laser ON
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Run 6089 mpswise, beam OFF, laser ON
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Run 6089 mpswise, beam ON, laser OFF

r25F | #2350 | 1555 =i 3= |=F5%E E3a=F 1ZETaTE 1SE32E,
100 200 300 400 500 600 700
mpsCoda
Run 6089 mpswise, beam OFF, laser OFF
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Run 6089 mpswise, beam ON, laser ON
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Run 6089 mpswise, beam OFF, laser ON
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Run 6089 mpswise, beam ON, laser OFF
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Run 6089 mpswise, beam OFF, laser OFF
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BPM Ay
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Run 6089 mpswise, beam ON, laser ON
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Run 6089 mpswise, beam ON, laser OFF
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Run 6089 mpswise, beam OFF, laser ON Run 6089 mpswise, beam OFF, laser OFF
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Run 6089 mpswise, beam ON, laser ON
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Run 6089 mpswise, beam ON, laser OFF
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Run 6089 mpswise, beam OFF, laser ON Run 6089 mpswise, beam OFF, laser OFF
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Run 6089 mpswise, beam ON, laser ON
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Run 6089 mpswise, beam ON, laser OFF
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Run 6089 mpswise, beam OFF, laser ON Run 6089 mpswise, beam OFF, laser OFF
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